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(3)

Application of fertilizers with irrigation
water is called :

(A) Herbigation

(B) Fertigation

(C) Dehydration

(D) None of the above

Cultivation of crops in areas where
annual rainfall is less than 750 mm is

called :

(A) Dry farming

(B) Rainfed farming
(C) Irrigated farming

(D) None of the above

Raising a crop for supplement yield with

main crop is known as :

(A) Intercrop

(B) Augmenting crop
(C) Main crop

(D) Relay crop

The duration of monsoon in India extends

for an average period of :

(A) 100-120 days
(B) 60-90 days
(C) 50-80 days

(D) 150-180 days
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Which one is not a component of
Integrated Nutrient Management ?

(A) Chemical fertilizers

(B) Biofertilizers

(C) Crop residues

(D) Herbicide

Brown manuring is related to which
crop ?

(A)  Wheat

(B) Arhar

(C) Cotton

(D) Rice

The major component of precision

farming is :
(A) Remote Sensing
(B) G.I.S.
(C) G.P.S.

(D) All of the above

Cropping system is a component of :
(A) Farming system

(B) Dry farming

(C) Irrigated farming

(D) None of the above
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9. Slaie Wl Bl J&F I @ - 9. Main goal of organic farming is :

(A) mgfacb Adl DT GRelv] (A) Conservation of natural resources
(B) ¥aI WY H FER (B) Improving soil health
(C) W g (C) Healthy food
(D) Sugad FHI (D) All of the above
10. e BN &1 3999 7 10. Component of sustainable agriculture is :
(A) INM (A) INM
(B) IPM (B) IPM
€) WM (C) WM
(D) SUgad |4l (D) All of the above

11, R RfRo & 7199 & forg wyed Sudwer - 11 Instrument used for measuring solar

3. radiation is :
(A) TR (A) Pyranometer
(B) UMM (B) Anemometer
© RIITH (C) Barograph
(D) SUYd H § I el (D) None of the above
12, Y-URSRY & §&F 3T BIF-91 § ? 12. Which is the main aim of tillage ?
(A) TRUGIR =07 (A) Weed control
(B) N 3T TR PR (B) Seed bed preparation
(C) HaI Ud Sel WReTu (C) Soil and water conservation
(D) Sugad FI (D) Al of the above
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13.

14.

15.

16.

Tl & ad g BT [ A B (o
HITIH WY dedl BT AT &

(A) 18
(B) 17
(C) 19
(D) 21

fy=foRed & & dH-91 SN UHHd
R Tl AT TEl 7 ?

(A) VrEeifaT

(B) TuirersRem

(©) dfer

(D) TelicrdgeR

HEAN ©

3 T[eTS ford Boel ¥ W § ?
(A) T
(B) =

(©) Torge
(D) SWad # | BIS T
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13.

14.

15.

16.

The total number of plant nutrients
essential for plant to complete his life
cycleis:
(A) 18
(B) 17
(C) 19
(D) 21

Which is not a nitrogen fixing bacteria ?
(A) Rhizobium
(B)
(©)
(D)

Azospirillum
Bacillus

Azotobacter

The physical condition of soil related to
plant growth is known as :

(A)
(B)
(©)
(D)

Tillage
Ploughing
Tilth

Sowing

Blind hoeing is related to which crop ?

(A) Wheat
(B)
(®

(D)

Chickpea
Sunflower

None of the above
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17. fodt & & Uil & wonfid g9 @& wWou 17. The arrangement of the plants in an area

Bl BEg is called :

(A) DI YT (A) Crop density

(B) Wua ST (B) Crop geometry
(C) ¥ Yaed (C) Crop management
(D) ™9l 3T (D) Crop production

18. ol @1 YATH BT Rrgr IWRId § 18. Liebig’s ‘law of minimum’ is related to :

(A) U UER | (A) Plant nutrition
(B) WRUTAR J§eH o (B) Weed management
(C) UPRRITATO | (C) Photosynthesis
(D) Ao o (D) Transpiration
19. “BOR’ Vg fod Wor | form mam € 7 19. “Manure’ word is derived from which
language ?
A) ¥® (A) Greek
(B) difed (B) Latin
(C) (C) Roman
(D) Wd (D) French
20. HT T4 I3 ¥ A S 7 ? 20. Soil moisture is measured by which
instrument ?
(A) THMIER (A) Anemometer
(B) <RIEMIex (B) Tensiometer
(C) &R (C) Barometer
(D) oMM (D) Thermometer

AGRON-5001 (7) Set-C



21.

22.

23.

frfafad & & dH-91 Ui @1 gfg @
e T8l & ?

(A) T e s

(B) A gl 3raver

(C) gemaRer

(D) ReR 3rawen

el Dl gy U4 faerd $ guffad de
el PR &

(A) TR

(B) TUsHH

OREEUEEREEN

(D) Suga Wl

JAIRT AMEId: BT § 9l YA
I ST €

(A) LERT® ¥ &H
(B) LERU® ¥ 3R®
LER U & aRTR

Swgad # W Pig T

(©)

(D)
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21.

22.

23.

Which of the following is not a phase of

growth in plant ?

(A) Lag phase

(B) Log phase

(©)

Flowering phase

Plateau

(D)

The factor affecting growth and

development of crop is :

(A) Light

(B) Temperature

(C) Atmospheric humidity

(D) All of the above

Intercropping is beneficial when land

equivalent ratio is :

(A) LER<1

(B) LER>1
(C) LER=1

None of the above

(D)
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25.

26.

e § | NPOP &1 ®IF-|1 W M
g ?

(A)  TIFA YU BR ARTHE BT

(B) Hcad Yrolde 31+ 3ifRtfHe HIfdT

(C) = URIH 3 UredH
(D) SWE & W B &l

ffeiRad | -1 Ul & f9dr &
qedibd T8l & ?

(A) UTll 3UTed SX-LPR

(B) UVl &5 JEdId-LAI

(C) YW I &I R-FR

(D) dTell 3 @ X-PER

T F

(A) U, DI T4 GMR & T wicR

(B) I UG ITUhH & Gfa UfeRwedt
(C) ufRwl TY-EST B

(D) ST W
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24,

25.

26.

Which one of the following is full form

of NPOP ?

(A) National Programme for Organic
Farming

(B) Network Project on Organic
Farming

(C) New Programme on Production

None of the above

(D)

Which of the following is not an

evaluation of plants development ?

(A) Leaf Production Rate-LPR

(B) Leaf Area Index—LAl
(®

(D)

Rate of Flowering—FR

Panicle Emergence Rate-PER

Characteristics of wheat ideotypes for

irrigated condition is :

(A) Resistant to frost, insect and disease
(B) Photo and thermoinsensitive
(©)

Erectophile canopy

(D) All of the above

Set-C
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28.

29.
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B YUell I GdIfdd dRA dren oifde 27,

PR ©
(A) Nfctdryg
(B) dIUHH

(C) TR
(D) i

Prefafes o o fow v @ o 28,

qIRReIfe 3 | Taled e S ded
27

(A) 909 Yl

(B) #Beil Ul

(C) SN (A) 3R (B)

(D) WHDIT e

Oidd Wil & an d FefoReg § 9 20,

HI-A1 FAT T T 7

(A) IT BN IuS B YU H FER
AT 2 |

(B) UNY oI # BIg YR eI Bl 2 |

(C) IT TR A BT H TRl ¢ |

(D) ST W

(10)

The biological factors affecting the

farming system is :

(A) Climate
(B) Temperature
(C) Livestock

(D) Topography

Which of the following enterprises can be

integrated in wetland ecosystem ?

(A) Duckery
(B) Fisheries
(C) Both (A) and (B)

(D) Sericulture

Which of the following statements is true

about organic farming ?

(A) It improves quality of farm

produce.

(B) No improvement in nutritive value.
(C) Itreduces health benefit.

(D) All of the above

Set-C



30. S SN B FHR 2 : 30. Problem of modern agriculture is :

(A) 3 T @I & (A) Damage to ozone layer
(B) #al fddr (B) Soil degradation
(C) T @I BeTg (C) Denudation of forest
(D) Sugad FHI (D) All of the above
31. WRA @I fobae Y Fetarg =i # foifld 31, India has been divided into how many
R T & 7 agroclimatic zones ?
(A) 10 (A) 10
B) 12 (B) 12
(C) 15 (C) 15
(D) 8 (D) 8

32. WK &F qAHG B JGURVT B fhww 32, Concept of Leaf Area Index (LAI) was

fogry ? given by :
(A) wIBHT (A) Blackman
(B) drcHd (B) Watson
(© Im (C) Gregory
(D) T9. TH. 94 (D) S.S.Bains

33. D=l D E ENCIRISIVIE] Hal Rerg 33. Central Arid Zone Research Institute is

39 situated at :
(A) SR (A) Jaipur
(B) @R (B) Kanpur
(C) Y% (C) Lucknow
(D) SIEYR (D) Jodhpur

AGRON-5001 (11) Set-C



34.

35.

36.

37.
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SR YT ¥ BN STeary &l Dl AT 8 -

(A) 3
B) 5
) 2
(D) 6

RA & I @TE B B

(A) IREH

(B) Tad

(C) i

(D) W

qig qedid @ fory diel WA fby o
grell AIIETS B

(A) I &3 gadid (LA

(B) ®ud gfg X (CGR)

(C) W& gfg R (RGR)

(D) Sugad F4I

B H Hord 4RI S $1 iR
feperT 8 ?

(A) 80
(B) 60
(C) 40
(D) 70

(12)

34.

35.

36.

37.

The number of agroclimatic zones in
Uttar Pradesh is :

(A) 3
(B) 5
C) 2
(D) 6

Staple food crop of India is :

(A) Soybean

(B) Rice

(C) Barley

(D) Mustard

The most common parameters used in
growth analysis are :

(A) Leaf Area Index (LAI)

(B) Crop Growth Rate (CGR)

(C) Relative Growth Rate (RGR)

(D) All of the above

What is the percentage of Indian

population engaged in agriculture ?

(A) 80
(B) 60
(C) 40
(D) 70

Set-C
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39.

40.

41.
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DI BRe qa 31 T Ay & ?
(A) HIH

(®) f

©) |

(D) IR

qYg ddl @1 JMIRIDhdl B AFGS (qdl
T

(A) <A gRT

(B) ¥ &R

(C) TW. TH IC NI

(D) 3RAM R W8T gRI

T, T R, & O A &

(A) T T e

(B) ifed w¥iiffiera Xe

(C) < wRaT e

(D) ~ic TR YR

G AW W B @l H A @
TRRIfT T AT HEATaT B -

(A) HH

(B) Wy
C) quf

(D) drgHvsA

(13)

38.

39.

40.

41.

Which crop is most drought tolerant ?
(A) Maize

(B) Sesamum

(C) Pearl millet

(D) Sorghum

Criteria of nutrient essentiality was given
by :

(A) Thompson

(B) Stanley

(C) S.S.Bennet

(D) Arnon and Stout

Full name of NAR is :

(A) Net Assimilation Rate
(B) Negative Assimilation Rate
(C) Net Area Rate

(D) Net Assimilation Ratio

The aggregate of weather conditions over

a long period of time is called :

(A) Weather
(B) Climate
(C) Rainfall

(D) Atmosphere

Set-C



42.

43.

44,
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g1 & oW U9 A P A &g WA 42

fepam S are 93 1
(A) TR
(B) EREMG
(C) oMM
(D) SRR

‘TIHAMY weg T 9T 3 forr T ® °? 43.

(A e
(B) wifed
(C)
(D)

CGR & 97 & : 44,

W, ~ W
(A) cer = —2—1
tZ_tl

(B) cGr = ="

(C) cGRr = Leaf area

Ground area

(D) SWad # | BIS T

(14)

An instrument used in the measurement

of force and velocity of wind is :

(A) Anemometer

(B) Hydrograph

(C) Thermograph

(D) Barometer

‘Agronomy’ word is derived from which

language ?

(A) Greek

(B) Latin

(C) Spanish

(D) Roman

Formula of CGRis :

(A) CGR = u
L4

(B) cGR = b, Lo
Y

(C) cGRr = Leaf area

Ground area

(D) None of the above

Set-C



45. 9Rd H qol 60 Ulwd aie aui g 45.

Bl B

(A) SIR-YJ AR ERT
(B) Y4-Uf¥eM HFEA NI
(C) SIEvT-uf¥e™ AMYT g

(D) STR-TIET G gRI

46. ‘Yohd JUG Aegiod W fawr w46

T :

(A) dICHT gRI

(B) Tfdemliaed gIRT

(C) S gINI

(D) &Y, Tl 91ed g

47. fefoRed § @ o9 ‘fedfae grmm 47

yfowe o &1 g3 8 ?

A Y-@a-vc
dx

B) (A-vicxX
dx

© LLE (Y “A)C
dy

(D) SWad # | BIS T

AGRON-5001 (15)

In India, 60 per cent of total annual

rainfall is received by :

(A) North-East Monsoon
(B) East-West Monsoon
(C) South-West Monsoon

(D) North-South Monsoon

‘Inverse yield nitrogen law’ was given by :

(A) Watson
(B) Wilcox
(C) Reddison

(D) W. L. Ballas

Which one is the equation of
‘Mitscherlich’s Law of Diminishing

Return’ ?
(A) & - (A-Y)C
dx

B) (A-vicxX
dx

©) L (Y “A)C
dy

(D) None of the above

Set-C



48. ‘9IS aﬁl‘c” YR <7 o 48. The concept of ‘Baule Unit’ is given by :

(A) TI. U9, 99 A (A) H.H.Baule
(B) TS dSel | (B) Bernhard Baule
(C) Ifee FrST A (C) Robert Brown
(D) e aF o (D) Antoni Von

49. DHF-GT AES U4 Shls T g @l 49. Which parameter indicates rate of growth

Eﬂ?&’ A <A e 89 per unit dry matter ?
(A) RGR (A) RGR
(B) NAR (B) NAR
(C) LAD (C) LAD
(D) CGR (D) CGR
50. ‘WIgPINTCT G JANT fohaT Irefl & 50. ‘Cycocel” is mainly used as a :
(A) UTERT dI$d & WY H (A) Dormancy breaker
(B) WUl ® fiRT | U & WY H (B) Lodging preventer
(C) el Bl Udell XA & ®U H (C)  Fruit thinner
(D) U B PIRTBRI @ 98 & fory (D) Plant cell enlarger
51. 3Meel UTey Uiy @ Sy < T B 51. The concept of plant ideotypes is given
by :
(A) SIS gRI (A) Donald
(B) drcad gnI (B) Watson
©) ST ol gRI (C) Jethro Tull
(D) ST GT gRT (D) Johnson

AGRON-5001 (16) Set-C



52.

53.

54,
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BIRe S fdTem & 3 €

EERCEE

(A) —————*100

gifefwm sUw

rfefsd 3UT

(B) ————x100

EERCEE]

R A

(C) —————*100

arfefsw 33U
(D) SWE & W B &
T B
(A) c, UmEr
(B) c, Umm
(C) CAM T
(D) ST T
B IR b BRE gRT WA gl
g ?
(A) A
(B) R fafexor
(C) U @I IyeT&rr

(D) ST W

(17)

52.

53.

54.

Formula of harvest index is :

Biological yield

(A) x 100
Economic yield

(B) Economic yield x 100
Biological yield

(C) Dry matter % 100

Economic yield

(D) None of the above

Maize is :
(A) c, plant
(B) c, plant

(C) CAM plant

(D) All of the above

Crop production is limited by which

factor ?

(A) Temperature

(B) Solar radiation

(C) Water availability

(D) All of the above

Set-C



55. Ui & d-9 9 H =y feq #§ 9 e ¢ 55. In which category of plants the stomata

3 T B T g 2 7 remain closed during day and open in
night ?

(A) CAM Ui ¥ (A) CAM plants

(B) c, u®i# (B) c, plants

(C) c, umi (C) c, plants

(D) SWE ¥ | TS el (D) None of the above

56. famfoRad & 9 d=-d ufbar digt # 56. Which of the following processes is

known as necessary evil in plants ?

AITIS g & wY H A AT B 2
(A) AR (A) Evaporation
(B) aTSAIISIH (B) Transpiration
(C) TPIRITTOr (C) Photosynthesis
(D) @ (D) Respiration
57. BIF-T 3Mq%ID UG dd ol g 2 57.  Which is not an essential plant nutrient ?
(A) HIHRA (A) Phosphorus
(B) TURCRRM (B) Potassium
(C) wfsuH (C) Sodium
(D) fof@ (D) Zinc

AGRON-5001 (18) Set-C



58. fy=foRad & § ®I9-91 9godl 7= 58.  Which one of the following is symbiotic

Repiad TrﬂﬂTUl 39 nitrogen fixing bacteria ?
(A) e (A) Algae
(B) UGIIcIdacy (B) Azotobacter
(C) Nrgulfegd (C) Rhizobium
(D) Tl (D) Azolla
59. ‘dRT’ vree foog wiwr & forar rar % ? 59. “Cereal’ word is derived from which
language ?
A To (A) Greek
(B) WA (B) Roman
(C) ST (C) Japanese
(D) @ifes (D) Latin

60. fafoRad # & d9-9) &) @€ @ B9l 60.  Which one of the following is a green

37 manure crop ?
(A) 3 (A) Linseed
(B) HUN (B) Cotton
(C) <= (C) Dhaincha
(D) oIt (D) Barley

AGRON-5001 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A I BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok qdl Heger
B o ST T ST START BRAT afoid ¢ |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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